Name: Chapter 6 Practice Test

Equation of a line: Slope of a line:

Slope ~ Intercept Form: ~ y=mx+b m SO hTHh
‘ run  x,—Xx

Slope ~ Point Form: Y=y =m(x—-x,)

General Form: Ax+By+C=90

Show all your work for each question. Simplify fractions whenever necessary.

1. Find the slope of each line.
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2. Find the slope of the line that passes through the following points:
a) A (-6,8) et B|{-1,-2) b) C(-3,7) et D (5,-5)
m=-2-8 . -_li - ) m= -5-71 = "i = -3
-1-(b) 5 5-(-3) 8 2

3. Determine if the following lines are parallel, perpendicular, or neither. Justify your response.

a)J (=3,3) &K (-1,7) and L (-1,2) & M {5, -1]
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b) P (-4,-2) & Q (-1,7) and R (2,5) &8 (4,-1)

m',‘: 7-(-2) -_9_ ,_3 My = -1-5 = "_g - -3
-Cw 3 4-2 2
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4. The vertices of triangle ABC are A (-1, 1), B (2, 5), and C (6, 3). Is triangle ABC a right triangle?
Justify your response.
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5. Graph each linear function. Indicate the slope and the y - intercept of each one.

Q) y=-3x+4 b) y=%x—5
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6. a) Write the corresponding equation in slope - intercept form for each graph.
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3 my+b (HINT: write in slope — point form first)
y-5= “%(x_ +4) vsed point (-4,5)
Yy-5= -2x -8
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b) Write each equation from (a) in general form. y = "%x -_35.
=30+ l) (i) 3 z 1
=X+ L
O= 3 y= L
4y = 3x+4 3y = ~2x+7
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7. Write the equation of a line that passes through point 4 (-2, 3) and is perpendicular to y=2x+1.

a) slope - point form b) slope - intercept form L—-) m, - ol N
= m( ) =

Y-y = Mmx-x) _. y-2 = ‘—;(xﬂ—)

-2 = "'.l - —

8. Write the equation of a line that passes through point E (-4, -3) and is parallel to y+1 =—;—(x—4).

a) slope - point form ' b) general form L_, same slope m=5
7
- - :_E_ X~ -|+) = _5_
y=(-2) = 5 (x~(-)) My+3 = & (e )
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9. Write the equation of a line in slope - intercept form and general form for a line withan x -
intercept of -3 and a y —intercept of 5.

-int. (~3,0) y-int. (0,8) qeneral form : Autyrt=o
find m m= Yo=Y - 5-0 - 3
X1-X 0-(-3%) 2 5(5= %’L +S)
slope- inferaept form : y: my. + b ' .’:5 = 5x + 1S
y=2x+5 ~3y ~3y
32

10. For each linear function: \(m

i) y+4=%‘(x+3) > y-(-4)=2( x-(-3)) i y—1=—§(x-4)
m \ Yi ‘Kl < Y \)L
a) Identify the slope and a point that the line passes through

‘ -
slope: 2 slope: /3’

point: (-3,-4) point: (4,1)

b) Write each equation in slope - intercept form.

() 5+4=m) Gy Y- = -1 (x-w)
+4 =1 +b -1 = =1\ y

y_ - y-1 = v d
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c) Graph each linear function
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11. Write each equation in general form.

G?(y=§x+3> :

b)(%x+y=2

55=X—+|5 X_+4H=8

—Sy =5y -g —8

3 3

C)[y—2=§(x+4)J d) [y+1=—%(x—2)]

AN A

3’@-}7,) - @) S(y+t) = ~4(x-2)
y-b = X +Y Y+ S '::“_88
-33 +b _35 '('b +4y -8 oL

12. Graph each linear function. (HINT: Rewrite the equation in slope — intercept form first.)
a) 2x—-4y-8=0

b) x-3y+12=0
¢ t8 -2.4 +8

—_ -1 -x-l7

g+ 2l 2y - x -t
Tl -4 -4 -3 -3 3
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inbal value rate
13. Mason had $40 in his bank occoim’r when he started saving $15 each week.
W

a) Write an equation to represent the total amount, A dollars, he has in his account after w weeks.

A:lSW""q'O

b) After how many weeks did Mason have $335 in his account?
[ P

Lw=7? A
w=? 335 = 15w + 4D 205 = 15w (20 =W

c) Suppose you graphed the equation you wrote in part {a). What would the slope and the y -
intercept on the graph represente

M = $i5/Weel

y-int (b) = $40 (haw much Masm had before he started

14. For a service call, a plumber charges a $75 initial fee, plus $40 for each hour she works. saving )

a) Write an equation to represent the total cost, C dollars, for £ hours of work.

¢ = 40t + 15

b) How many hours did the plumber have to work to earn $3352

b= ¢ = 4ot +15
=15 -5
200 - yot
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